

Multiply by 10^{-3} (D)

Find each product.

$$6,1 \times 10^{-3} =$$

$$6,1 \times 10^{-3} =$$

$$2,0454 \times 10^{-3} =$$

$$0,2179 \times 10^{-3} =$$

$$1,2 \times 10^{-3} =$$

$$5,8 \times 10^{-3} =$$

$$8,583 \times 10^{-3} =$$

$$2,3705 \times 10^{-3} =$$

$$3,52 \times 10^{-3} =$$

$$3,6 \times 10^{-3} =$$

$$6,142 \times 10^{-3} =$$

$$9,86 \times 10^{-3} =$$

$$9,2 \times 10^{-3} =$$

$$0,43 \times 10^{-3} =$$

$$0,468 \times 10^{-3} =$$

$$2,7637 \times 10^{-3} =$$

$$7 \times 10^{-3} =$$

$$1,4 \times 10^{-3} =$$

$$3,1 \times 10^{-3} =$$

$$2,614 \times 10^{-3} =$$